
{i+eξ, j}′ ⇐ {i, j+eξ} and/or iξ and/or jξ
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Algorithm (i major)

wiξ
= 1

wi = 1
wjξ

= 0

wj = 0
do nj = |j|, 0, −1

do n′
j = nj , 0, −1

wjξ
= wjξ

+ 1

wj = wj + 1

{wjξ
, wi}

xrecurrence⇒ {wj , wiξ
}′ with ix = |i| and jx = n′

j

end do
wjξ

= wjξ
+ 1

end do
do ni = 0, |i|
wiξ

= wiξ
+ 1

wjξ
= 1

wj = 0
do nj = |j|, 0, −1

do n′
j = 0, nj

wjξ
= wjξ

+ 1

wj = wj + 1

{wjξ
, wi + ni}

yrecurrence⇒ {wj , wiξ
}′ with iy = ni and jy = n′

j

end do
wjξ

= wjξ
+ 1

end do
end do
wi = wi − 1
do ni = 0, |i|

do n′
i = 0, |i| − ni

wi = wi + 1
wiξ

= wiξ
+ 1

wjξ
= |j|+ 2

wj = 0
do nj = 0, |j|

do n′
j = nj , |j|

wjξ
= wjξ

+ 1

wj = wj + 1

{wjξ
, wi}

zrecurrence⇒ {wj , wiξ
}′ with iz = ni, and jz = nj

end do
end do

end do

end do

Algorithm (j major)

wjξ
= 0

wj = 0
do nj = |j|, 0, −1

do n′
j = 0, nj

wjξ
= wjξ

+ 1

wj = wj + 1
wi = 1
wiξ

= 1

{wi, wjξ
} xrecurrence⇒ {wiξ

, wj}′

with ix = |i| and jx = nj − n′
j

do ni = 0, |i|
wiξ

= wiξ
+ 1

{wi + ni, wjξ
+ 1} yrecurrence⇒ {wiξ

, wj}′

with iy = ni and jy = n′
j

end do
wi = 0
do ni = 0, |i|

do n′
i = 0, |i| − ni

wi = wi + 1
wiξ

= wiξ
+ 1

{wi, wjξ
+ nj + 2} zrecurrence⇒ {wiξ

, wj}′

with iz = ni and jz = |j| − nj

end do
end do

end do
wjξ

= wjξ
+ 1

end do


